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P1 A=0ord=1 P3 1-1=1 P5 1+1=1 P7 1+0=0+1=1
P2 0-0=0 P4 0+0=0 P6 1-0=0-1=1
= A0 jt
"= EH_I_—l 7|% —l
- Y5 E7H0|1F 2 YA
_ _ _ _ AL 4 (duality) : £ = Z2|Lt
1 A4+0=04+A4=A 2 A-1=1-A=A y):=
* 712 W 0 £ S Aof A 03 1
S ME HR T O+ E A2 H
3 A+1=14+A=A 4 A-0=0-A=0 qgowﬁmoﬂ.ﬂgi. T
5 A+A=A 6 A-A=A
7 A+A=1 8 A-A=0 9 A=4
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« % HE (communicative law)
10 A+B=B+A4A 1 A-B=B-A
= A% H%l(associate law)
12 (A+B)+C=A+(B+0) 13 (A-B)-C=A-(B-C)

= 2 HY HX(distributive law)
14 A-(B+C)=A-B+A-C 15 A+B-C=(A+B)-(A4+C)

« £ 2719] ™2|(De Morgan’s theorem)

16 A+B=A-B 17 A-B=A+B
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= S HE|(absorptive law)

18 A+A-B=A

19 A-(A+B)=4

= 29[ 7 2[(consensus theorem)

20 AB+BC+ AC = AB + AC 21 (A+B)(B+0)A+C0)=A+B)A+0)
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| A+B+C+D=A-B-C-

= - 1

| A+B+C=A-B-C

A-B-C=A+B+C

| O

A-B-C-D=A+B+C+D
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= O, 2Hf HXl(15)A+B-C=(A+B)-(4+C) 3Y
2| ALE 3H HA AE
a3 25 2=F (A+B)-(A+C) =AA+AC+BA+BC
A+BC [A+B |A+C | A+B)(A+0)

- = A+ AC + AB + BC
=A-(1+4B+C)+BC
=A-1+BC
= A+BC
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A A+B

B DﬁB)CD
C ——

DI :Z>i: AC + (A+ B)CD
CD




= AND-OR 2|2
= O, F=AB + AB + BC

= OR-AND 2| =
» O, F=(A+B)A+B+0)

. 23 3|2
= O, F=AB + C(BD + A)
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Cl=4Al= ®Eoot= 271X 7|2 HE7F /=
=9 (SOP: Sum Of Product) : AND-OR 2% HEf
29| &(POS: Product Of Sum) : OR-AND Z & HE|
o| eh(SOP)1t Z| A2 (minterm)
2 FO1EHA7EAND 2H(=2l eHe =z #4511, =5 F02l 2B 4= OR
gh(Eel ghe 2 =07l =2(4
o,
F=A
F=A+B+C
F = AB
F=AB+C

F = ABCD + ABCD + ABCD + ABCD

2024. 03. 04. 10



H
INd
10

gt

- HH
HA Y
10 [o

I Th 7R

ABCD, ABCD, ABC
ABC, ABC,BC S

!
bt
>
ot
Q
r

S
ojn
!

H
M
ind
10

0))
O
9
=
bt
2a
ot
3
=4
@
3

= X[A SOP:SOPE LIEHH ot SO A X2 =9

= O, ot MES2 2T E2 2

ABC + ABC + ABC + ABC + ABC
AB + AB + ABC

AB + AB + AC
_ _ .ﬂﬁ:SOP
AB + AB + BC
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A=1ANDB =0OR ol =3
A=1ANDB =12 I F=1¢ A B F

0 0 0
A=1AND B =1OR ? (1) :
A=1AND B =10R 1 ; :

A=1ANDB =1L 0 F =1

AB=10RAB=10RAB =19 [ F =1¢

F =AB + AB + AB
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F =AB + AB + AB
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= 0|, A, B, C, D 47|
A+B+C+D
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SOP POS
F = AB + AB F=(A+B)(A+B)
F=m;+mj F=M,+ M,
F =Ym(1,3) F =]1M(0,2)
CE I T N ==
A B F A B F
0o|l0| 0 | my=A4B 0|l0]| 0 |My=A+B
0 | 1 1 m, = AB 0| 1 1 |M,=A+B
10| 0 | m=4B 110| 0 |My=A+B
1| 1 1 ms = AB 1| 1 1 |M;=A4+B
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= ABC + ABC + ABC + ABC + ABC

ABC - ABC - ABC - ABC - ABC
=(A+B+C)A+B+C)(A+B+C)(A+B+C)(A+B+C)
=[] M(0,1,3,5,7)

2024. 03. 04. 18



|
« 2 Of4 B2 0|8N =24
= 0,

F = ABC + ABC + ABC + ABC + ABC
= (ABC + ABC) + (ABC + ABC) + ABC
= AB(C +C) + AB(C + C) + ABC
=AB-1+AB-1+ ABC
= AB + AB + ABC

F=A+AB
=(A+A)(A+B)
=1-(A+ B)
=A+B

2024. 03. 04.

19



